MCQA {8UE%%% 040~0200

FAE SRR ]

L e UM

0 W R Y A
3
\OO
D]
I [ ] T
=
C
(% | ez |mzm [Aa[B|c|D| E
40 RCA HV2 36 | 41 | 26 | 13 [ M4x10L
50 RCA HV2 38 | 43 | 26 | 13 | M4x10L
63 RCA HV2 46 | 49 | 26 | 13 | M4x10L
80 RCA Hv4 52 | 55 | 26 | 13 | M4x10L
100 RCA HV4 59 | 62 | 26 | 13 | M4x10L
125 RCA PM14 — | — |26 | 12 | M4x10L
150 RCA PM16 — | — |26 |12 | M4x10L
200 RCA HA5 — | — [ 26 [ 15 | M4x10L
ZT+ 1714 A
x
| -
Myt | ;
\ Ly+ 712
I
f% | A| E |FB|LH|LL|LM|LR|LS|LT|LX|LY|ZT
40 | 30 |M14x15| 9 |40 |27 | 13|42 | 58(3.2| 69|138|132
50 | 35 |M18x1.5| 9 |45 |27 | 13 | 50 | 66|3.2 | 78|144[140
63 | 35 |M18x1.5(11.5| 50 | 34 | 16 | 59 | 80| 4.5| 90|166 | 155
80 | 40 |[M22x1.5 (14 | 65 [ 44 | 16 | 76 [100| 6 115 (204 [ 191
100 | 40 |[M26x1.5 (14 |75 | 43 | 17 [ 92 (118 |6 |134|212]|201

M mindman

mindman




MCQA %%tk o040~063

= A S EREL mindman

m ARSI TR 500mm LA o
FTRZHEE 500mm A FAC B -

ZF+ 1712

N
o

— [ S 4 S
[T
,,,,,,,,,,, 3
2
% |a| E | F|FB|FD|FF|FR|FT|FU|FX|ZF
40 30 [M14x15| 12 | 9 9| 80|42 |32(100| 58 | 99
50 35 |[M18x15 (12 (9 [ 11| 90| 50 [3.2 (110 66 [ 105
63 35 |M18x1.5| 15 |11.5( 8 |105| 59 [4.5|130(| 80 | 116
AHLEH 7L 500mm LA -
TTREkE 500mm A FBC FifT: «
ZF+ 1772 A
P
FU
FF

fan)

N
&)
"

D
()
A\ >
)
Y
©

B JA| E |c|F|FB|FF|FR|FT|FU|FX|zF
40 30 [M14x15| 21 | 12| 9 | 80| 42 [3.2]|100(| 58 | 117
50 35 |M18x1.5 (23 (12 [ 9 [ 90 | 50 |3.2 (110 | 66 [125
63 35 |M18x1.5| 23 | 15 [11.5|105| 59 [ 4.5|130| 80 | 136

M mindman



MCQA %HE 040-0100

FAE SRR ]

ZF+ 1712

mindman

%

S A E F |[FB|FD|FF |[FR|FU|FX | ZF
40 | 30 |M14x15[ 12| 9 9|80 |42 |100| 65 | 99
50 | 35 |M18x15| 12| 9 | 11|90 | 50 [110| 73 | 105
63 | 35 |M18x1.5| 15 [11.5| 8 |105| 59 |130| 84 | 116
80 | 40 |M22x15| 18 (14 | 13 |130| 76 [ 160|108 | 138
100 | 40 [M26x1.5| 18 (14 | 14 |150| 92 [180 (124 | 149
ZF+ 1712 A

M mindman

(%

| A|c| E |F|FB|FF|FR|FU|FX|ZF
40 | 30| 21 |M14x15| 12| 9 80| 42 |100| 65| 117
50 | 35| 23 |M18x1.5( 12| 9 90| 50 |110| 73[125
63 | 35| 23 |M18x1.5 | 15 |11.5|105| 59 |130| 84|136
80 | 40| 31 [M22x1.5| 18 |14 |130| 76 (160|108 | 165
100 | 40 | 32 |M26x1.5| 18 (14 |150| 92 (180 (124|176




MCQA %HE 040-0100

FAE SRUBR ]

mindman

N Bz
&) e (&
J "CR
j R | = .
I
T
|
@2 ‘ f\ oCD
L\
CA cM
oo cL
ox 7T+ {72 A
% |a| ca [cp|cL|cm|crR| E |o| X |zT
40 | 30 (15 31|10™°| 30 | 18 | 10 [ M14x1.5 |40.5| 58135
50 | 3518 31[12"°| 35 | 22 | 12 |M18x1.5 [48 | 66148
63 | 35(25 53[16"°| 40 | 27 | 16 |M18x1.5 (59 | 80161
80 | 40 [31.537 [20"°| 48 | 30 | 20 |M22x1.5 74 [100|195
100 | 40 (35531 [25™°| 58 | 38 | 25 | M26x1.5 [90 | 118|216
( il ] E
ofH@ T
1 1 gL RCR /
1—+ 4 —+—1 it ]
N ‘ N (— | N
/\:1 i N #CD N:-[[
N4l 7/
T
CB CcM
(CE)" cL 3
0o ZT+ 1712 A
[
* EREEMTE , F7ERC
T - AEHRE,
FHIGTERS
% | A| cB [cD|cE|cL|cm|[cR| E |O|Xx |zT
40 | 30|15 :33[10"°[29.5( 30 | 18 | 10 | M14x1.5 |40.5| 58 |135
50 | 35 (18 133|12""°|38 | 35 | 22 | 12 |M18x1.5 (48 | 66148
63 | 35(25 153[16"°(49 |40 |27 | 16 |M18x1.5|59 | 80161
80 | 40 [31.5333[20"°(59 | 48 | 30 | 20 | M22x1.5 [74 | 100|195
100 | 40 [35.5133|25"°|64 | 58 | 38 | 25 | M26x1.5 [90 |118|216

M mindman




MCQA %HE 040-0100

FAE SRR ]

mindman

M mindman

E
o
a - =2
L
TJ+112 {77 ‘ it
il | TR il N - .
ZB+ 171 A
TU

2 lAa| e |m|TF|Td|TK|TL|TT|TU|TX|2ZB

40 | 30 |M14x15 15| 63 | 42 | 22 | 16 | 85| 117 | 58|105

50 | 35|M18x1.5 [15®| 68 | 45 | 22 | 16 | 95|127| 67| 113

63 | 35 |[M18x1.5|18%| 72 | 49 | 28 | 19 | 110 [ 148| 82| 121

80 | 40 [M22x1.5|25°| 89 | 58 | 34 | 26 | 140|192 [ 102 | 147

100 | 40 [M26x1.5|25%°| 95 | 63 | 40 | 26 | 162|214 [ 122|158

E
Tus 1712 TF
I
7B+ fiH2 A TL T TL
TU

1Rk ARG | R

A| E |TD|TF TK| TL| TT|TU | TX
P TJ[zB|TJ]ZB
40 | 30 |M14x1.5[15%°| 60 | 45 | 105 | 75|135| 22 | 16 | 85| 117 | 58
50 | 35 |M18x1.5 15| 64 | 49 | 113 | 79(143| 22 | 16 | 95|127| 67
63 | 35|M18x1.5 [18%| 69 | 52 [121| 82|151| 28 | 19 | 110|148 | 82
80 | 40 |M22x1.5 [25%| 85 | 62 | 147 |102|187 | 34 | 26 | 140|192 102
100 | 40 |M26x1.5|25®| 92 | 66 | 158 | 106 [ 198 | 40 | 26 | 162|214 | 122



MCQA %HE 040-0100

FAE SRUBR ]

rhE SRR

mindman

E
a | x| B8] |
= 'gI
L
T ‘ TF+ 4782
! ZB+ {7#2 A TL TT TL
TU
liv: PHIREEY | FRGEH
Al E |TD TJ|TK|TL|TT |TU|TX
Pt TF [zB | TF [zB
40 | 30 [M14x15 |15%| 66 | 105| 96 |135| 39 | 22 | 16 | 85| 17| 58
50 35 [M18x1.5 |15%| 72 | 113 |102(143| 41 | 22 | 16 951|127 | 67
63 35 |M18x1.5 [18%| 75 | 121 [105[151| 46 | 28 | 19 | 110|148 | 82
80 40 | M22x1.5 [25°®| 93 | 147 | 133|187 | 54 | 34 | 26 | 140|192 | 102
100 40 | M26x1.5 |25°®| 98 | 158 138|198 | 60 | 40 | 26 | 162|214 | 122
m {7RHE# 1000mm
E
Ty+1/2x 1782 ‘ TF+1/2% 72 oTx
i
ZB+ 17#2 A (TY)
B2 Al E |TF|T|TK|TX|TY|ZB
40 30 |M14x1.5 | 63 | 42 | 22 58| 60105
50 35 |M18x1.5 | 68 | 45 | 22 67| 69113
63 35 |M18x1.5 | 72 | 49 | 28 82| 84121
80 40 |M22x1.5| 89 | 58 | 34 | 102|110 | 147
100 40 |M26x1.5 | 95 | 63 | 40 | 122|132|158

M mindman




MCQA %%k 0125~0200

FAE SRUBR ]

M mindman

mindman

ZT+ 78 A
—C |
IS — f
EHoT |
-
N ¥ 3
© i 5 @:\ B e —
e i=d 1
| LR N | W | |
LS 4-gFB LY+ {72
8% | A| E |FB|LH|LL|LM|LR|LS|LT|LX|LY|ZT
125 45 | M30x1.5 | 16 |85 48 | 17 | 117|150 162 1232|231
150 50 | M30x1.5 | 18 |96.5| 55 | 20 | 134|175 9 (184|263 | 255
200 63 | M45%x1.5 | 24 (132 | 60 | 30 (150|226 | 10 | 245|274 | 281
ZF+ 78 ‘
F | FD A
J ‘ﬁH
ﬁ_*
i e —— | 4-0FB
Ko 16}
O ©
— | E
5 Al E F |FB|FD|FF|FR|FU|FX| J | V |2ZF
P
125 | 45 |M30x1.5 | 20 | 18 | 27 | 183|123 222[155| 10 | 20 | 166
150 50 | M30x1.5 | 20 | 18 | 27 (230|134 | 275|185 8 | 26 |181
200 63 | M45x1.5 | 25 | 24 | 42 [280(150|335|225 11 (187
‘ ZF+ 1R A
o c
4-oFB T TH — — "
H.
e (03]
2t S -
1 .
E |F |FB|FF|FR|FU|FX|zF
M30x1.5 | 20 | 18 [ 183|123 |222| 155|203
M30x1.5 | 20 | 18 (230|134 |275|185| 220
M45x1.5 | 25 | 24 [280|150|335|225|246




MCQA %%k 0125~0200

FAE SRR ]

mindman

|
|
I
(0 ||| o]
|
1 *CR
,,,,7,f,ﬁ1,,,,7,7,, _
[
i @CD
|
CHInI:)
CA CM
0o cL
[m)4 ZT+ 1711
% | Alcajcp|cLcm[cR| E |oO|Xx |zT|V
125 | 45 (4351 |25"°| 65 | 45 |24 [M30x1.5 | 117 [ 150 [ 248 | 20
150 | 50 [40 33 [30"°| 78 | 53 [27.5|M30x1.5 [ 134 [ 175|278 | 26
200 | 63|50 91 |40™°| 85 | 55 |40 |M45x1.5 |182| 226|306 | 12
o o
I
7Y LYY "R
,7,f,,ﬂ,4‘,,,,,,,7 _ _
A a #CD
|
ol !l ||e
cB CcM
. cL
(Ci) ZT+ 17K A
m}
Oox
* SGFEM Eﬁ%ﬁﬁ@ﬂﬁﬁ
HH - WERE, FHAE -
% .|a|cB|cp|cE|cL|cm|[cR| E |o|x|zT|V
125 | 45|43 133|25""°| 83| 70 | 48 (24 |M30x1.5 [ 117 [ 150|253 20
150 | 50 |40 :33|30"°| 90 | 78 | 53 [27.5| M30x1.5 134 | 175|278 | 26
200 | 63|50 10%|40™°|100 | 85 | 55 |40 |M45x1.5 [ 182 226|306 12

M mindman




MCQA %%k 0125~0200

FAE SRUBR ]

mindman

TK
| |
\ T
5 e s ey iy s 8 |
| E
/l\ /7
B I N [ B 14 I = A
§ ) s
|
|
‘ o
TU+1/2x 1772 TF+1/2x {72
TL T TL
v 28+ {782 A
T TU
B2 Al E |TD| TF [TJ|TK|TL|TS|TT|TU|TX| V |ZB
125 | 45 |M30x1.5 |32 |115 (68 | 40 | 40 | 164 (176|256 |172|17 [183
150 | 50 [M30x1.5 | 35% |123.5 [76.5| 41 | 40 | 194 (200 280|198 |16 |200
200 | 63 |M45x1.5 | 45% |144 |77 | 59 | 45 | 255|265 (355 (255| 8.5|221
TK
_ |
a1 [
| E
|
[ I S /J\k%k I . . o 21 J
|
==
| LV,
T+ 17 TF
v ZB+ {712 A TL T TL
T TU
Rk BTG | BRGAY
—|A| E |TD|TF TK|TL| TS| TT|TU|TX| V
Pt TJ[zB| TJ [zB
125 | 45 |M30x1.5 327100 |83 | 183|120 |220 40 | 40 | 164176256 172[17
150 | 50 [M30x1.5 |35%°(109 |91 |[200|137 |[246| 41 | 40 | 194 (200|280 |198 |16
200 | 63 |M45x1.5 [45%|139.5|81.5|221 [125.5|265| 59 | 45 |255|265|355|255| 8.5

M mindman




MCQA %%k 0125~0200

FAE SRR ]

mindman

‘ TK
| |
T1 T
T e
| I
~ 74/\F 77777 N e < ol | |
‘ —
Hh1 3
. Tl
\
TJ TR+ 1712
TL
v ZB+ 1712 A
! TU
ik TR | BRAG
A| E | TJ|TK|TL|TS|TT[TU|TX| V
P TF [zB| TF [zB
125 | 45 |M30x1.5|32°°|130 | 183 (176 |229(53 | 40 | 40 | 164|176 |256 [172|17
150 50 [ M30x1.5 |35®|138 | 200 (184 |246(62 | 41 | 40 |194|200 (280|198 |16
200 63 | M45x1.5 [45%|148.5 | 221 [192.5 | 265 |72.5| 59 | 45 | 255|265 |355(255| 8.5
m 1712 1000mm
SRR
|
E
N i S G ] _
=
V
TJ+1/2x 1712 TF+1/2x 1712
v 2B+ 177 A
T
B la| e | T1F [T9|TK|TS|TX|TY| V |ZB
125 | 45 |M30x1.5 |[115 (68 | 40 | 164 | 172|174 (17 |183
150 | 50 | M30x1.5 |123.5|76.5| 41 |194| 198|200 (16 |200
200 63 | M45x1.5 |144 |77 | 59 [255(255(263 | 8.5(221

M mindman




MCQA Bt 040-0200

FAE SRUBR ]

(CH)*

-

* SBEFMIA , IV EN AT - 06

B | | )
Q
£

= SHEIA ML 7
TR REIACE -

Rk B c CH D G H KK L M X0
IS Y Y | | Y | Y| 1T Y [T |]Y][I Y | Y | | Y |
40 [16333(1633 |25 | 20 | 38| — | 26 | — |@24|@24| 25 | 25 | M14x1.5| 55| 55| 68 | 68 |@12 37
50
e 161331631 27 | 22 | 38| — | 30 | — |28 (@28 | 27 | 27 [ M18x1.5| 60| 60| 75 | 75 |[@12 0"
80 (28133283132 (27| 55| — | 38| — |236|236| 32 | 32 | M22x1.5| 71| 71| 90 | 90 |[@18 5%
100 [30:33(303%| 35|30 | 59| — | 42 | — |040|@40| 38 | 38 | M26x1.5| 83| 83|104 (104 |@20 *3%
125 321931325135 |40 | 76| — | 58 | — [@45|@50| 38 | 32 | M30x1.5| 80| 80(109 (109 |[@20 *3%
150 403331405135 |40 | 84| — | 54 | — [@45|260| 39 | 32 | M30x1.5| 80| 80(107 (107 [@25 *3%
200 [50333(5031| 67 | 67 |100| — | 85 | — | 870|270 | 54 | 44 | M45x1.5 [ 125|125 |167.5 |167.5 | 240 *J"
2-F
P
P —— 2]

c B c

A

Y & | BUEZEH I FREE R~ 2
k| A|B|c| 0° | E|F |l
40 | 57| 46|55 |@123%5]3.5| 1.0 [3.2x20 £
50 | 57| 46|5.5|2125%5(3.5]1.03.2x20 &
63 | 57| 46|55 |0125%(3.5(1.03.2x20 &
80 | 78| 64|7 |01835%5|4 [1.2]|4x25E
100 | 87| 70|85 |2203%5|5 |1.5|5%x35FK
125 [100| 83(8.5|22030%|5 |1.5|5%x35K
150 |112| 95|8.5|@253%|5 |[2.0|5%355
200 |115(105(5 |[2403%|5 |20 |5%55%

M mindman

CA & CB RUfCHHfiH N ~F 2%

Rk do BHCISY
we | A|B|C| DY |E|F | mpie
40 | 48| 37|55 (010585 3.5]1.0|3.2x20 &
50 | 57| 46|55 |9125%(3.5(1.0|3.2x20 &
63 | 72| 58|7 |e165%|4 |1.2|4x25E
80 | 87| 70|85|2205%|5 |1.5|5x35&
100 | 93| 76|85 |@2550%|5 |1.5|5%x35K
125 [112| 95|85 |@2550%|5 |1.5|5%x35 K
150 |119]102| 8.5 |2305% |5 |2.0|5%40 &
200 [115]|105|5 |[@403%|5 |20 |5%55%

mindman



	7_傳感器安裝
	8_安裝配件
	9_安裝配件
	10_安裝配件
	11_安裝配件
	12_安裝配件
	14_安裝配件 
	15_安裝配件 
	16_安裝配件 
	17_安裝配件
	18_接頭配件

